/EAEHF =

(1ot 40

EIC AR PraEg il ~ B 103 £ # 37 SFRIHE 40 * o B aEIH E 31
B MEPIRIPIH 9 & e

1035 8 5] [ilgE 21 ~ o H 40 * e gEBER o (T SPHIREED 100 % - fl1
VHEEEE] 31 M EER 8L 775 % 0 FMAED 77.5 % AR M EY 9
BT 0 T8 IV 225 % > AT 22.5 % ¢

8 EI pl1 T E [ Fl'%lﬁl“ PrEEREE PP EEE C BEL 31 8 MR 9
REEE2 - HEFWFH L FR0 " PSRBT RS B0 "
DR E T i e I L ) B EN T

PSLIFBRET 1015 11 F 19 FURIHfSE 5 e = A Fr101 5 11 2] 19 P& 5
A AR AR 102 F 2 F) 18 FIET BT BY A o

103 15 LB HIRIC S B B8 ¢ ket

(

\ru
&
e
(1:-

103 = | 103/08 | 103/09 | 103/10 | 103/11 102/12 | 103/01 | T &f

3,385 3,385

103 ™ 104/02 | 104/03 | 104/04 | 104/05 | 104/06 | 104/07 | | &Ff

PS1. ﬂca]-?ﬂ b cpf ﬁaﬁﬁl Ui EE *Frﬂsgg';jﬁg FI{E r}hjgv“g‘t RN J[lqj?l
103?55@#&[103?8 F|-104 & 7 F|H ko

103/08-104/01 "H[JJF MEEY 3,385 v - 103/08-104/07 £ Py
(B 2 ~ Bk FF 8% 103 Mo PRy 103/ MR

103 &5 FEF@® F)P[EEEFN & * VR

il e MR

=+ E] 103 103 103 103 103 104 e
BE 08 09 10 11 12 01 g
LNEE | AR 9,871 9,871
SOl | 21 21
H |L[r
fﬁf ~ N ?j 8/25
b 762
FIss s | 470 470

17




i< 7 A 156 1

=z,

oK
TEE | o o 994
NEHE %
wal | L oRgp 8/13 994
Hr 54
MR R
~ 47 47

PSTIAF B g = AP 1119 BillpnE & - AIPTE S 2 AR of i -

PSZ.EI 2013/02/18 ¥ 1 2 53 5% 7

103 # 8 FI P gg ~ F4F 9,871 2 o LRI O P2 Eﬁf 21 LT 8
HE g g Eﬁ%@ 9.871 * TH 150 C N (R BT WIEED - 8 £ 9 #ikal
SR O44 B TREES 994 R BETR 0 SR

103 55 PG DO FPFEL - BRI

E| {5y 103 103 103 103 103 104 ﬁ ;:f
CHE 08 09 10 11 12 01
6[%@’@.’ * f 9,871 9,871
(Z FIAED
HgE S TR 9,871 9,871
d- = 100% 100%
“ohED
CEE SR 0
CERIESE
RN
i) ﬁ%t B F B
FIRfIEE FIRfIEE
103 &7 S8 FJ)7]‘?I{;4 R~ BERE R 5T YR
/T i LS Pﬁ '53: ‘i,
E] 5y 103 103 103 103 103 104 f{ G
CHE 08 09 10 11 12 01
I 994 994
(= FIHEED
W E 994 994
(- =3 100% 100%
T ED
W e 0 0
CERIESE
FUbEh
S el K

18




s [

T | | | REEE |
103 5 _FERI EF I FSBIBTS SE ~ Bkt
i MR
ik BE | 9F] | 10F] | 11F] | 12 1A A
R |
?;ﬁ‘"ﬁj?ﬁﬁ
SrEE
%}E,[ﬁﬁ piffl 1066 000
I g [
@E[[ﬁﬁg R 3389 3389
1= BE A
BEar™ | o .
1= A
@1{5[% KB g =
ﬁ[?;ﬁﬁ|&ﬁﬂ
Iﬁﬁ e 8297
PSLIAF P T A+ F1 101 11 A] 19 FI8 A0 0FI ) 3Bk 3 e -

PS2.F1 102 & 2 F] 18 FI & ik & 7 3k 38 5t -

103 5 FEHG EDFIRA B A oI

DI G-I O

& i 8 10 11 12 0 (= A
v
TIFE
j?—? 15 15 | 8H[BT1
i 1 1
AEEES
=285 8 FIEnA]
FId 5 1 1
RS
ERape
i

19




